
𝑛 = 1000
𝑥 = 400
𝐶𝐿 = 95%

Stat Tests 1PropZInt @A(0.36964, 0.43036)

𝑝 =
0.36964 + 0.43036

2
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑝 = 0.4

𝐸 = 0.4 − 0.36964
𝐸 = 0.03036

𝐸 = 0.43036 − 0.4
𝐸 = 0.03036

𝑛 = 1230
𝑝 = 0.4
𝐶𝐿 = 98%

𝐸 = 𝑧ఈ
ଶ
⎯⎯

ට
𝑝𝑞

𝑛
⎯⎯⎯
⎯⎯⎯

 

𝐸 = 2.33ඨ
(0.4)(0.6)

1230
⎯⎯⎯⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯⎯⎯⎯
 

𝐸 = 0.0325

𝐶𝐼

𝐸 = 0.045
𝐶𝐿 = 95%
𝑝 = 𝑢𝑛𝑘𝑛𝑜𝑤𝑛

𝑛 =
൫𝑧ఈ

ଶ⎯⎯൯
ଶ 

𝐸ଶ⎯⎯⎯⎯⎯ (0.25)

𝑛 =
(1.96)ଶ 

(0.045)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯(0.25)

𝑛 = 474.27
𝑛 = 475

𝐸 = 2%
𝐶𝐿 = 99%
𝑝 = 0.14

𝑛 =
൫𝑧ఈ

ଶ
⎯⎯൯

ଶ 

𝐸ଶ
⎯⎯⎯⎯⎯ (𝑝𝑞)

𝑛 =
(2.575)ଶ 

(0.02)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯(0.14)(0.86)

𝑛 = 1995.8
𝑛 = 1996 (𝑇𝑒𝑐ℎ:  1998)

525 𝑔𝑖𝑟𝑙𝑠

574 𝑏𝑎𝑏𝑖𝑒𝑠
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 𝑃𝑜𝑖𝑛𝑡 𝐸𝑠𝑡𝑖𝑚𝑎𝑡𝑒 =

525

574
⎯⎯⎯ = 0.915

0.892 < 𝑝 < 0.937

𝑁𝑜𝑡 𝑒𝑓𝑓𝑒𝑐𝑡𝑖𝑣𝑒 ; 𝐸(𝑥) = 0.5

𝑛 = 40
𝑥̅ = 172.55
𝜎 = 26
𝛼 = 0.05

𝐸 = 𝑧஑ 
ଶ⎯⎯

𝜎

√𝑛⎯⎯ ⎯⎯⎯

𝐸 = 1.96
26

√40
⎯⎯⎯ ⎯⎯⎯⎯

𝐸 = 8.0574835

𝑧ఈ
ଶ
⎯⎯

= 1.96                          𝑥̅ − 𝑀𝐸 < µ < 𝑥̅ + 𝑀𝐸
172.55 − 8.0574835 < µ < 172.55 + 8.0574835
                          164.49 < µ < 180.61

𝐶𝐼 = 172.55 ± 8.06(164.49, 180.61)

𝑛 = ቆ
𝑧ఈ

ଶ⎯⎯
𝜎

𝐸
⎯⎯⎯ቇ

ଶ

𝑛 = ቆ
(1.96)(15)

3
⎯⎯⎯⎯⎯⎯⎯⎯⎯ቇ

ଶ

𝑛 = 96.04
𝑛 = 97

𝛼 = 0.05
𝜎 = 15
𝑀𝐸 = 3

𝑛 = 49
𝑥̅ = 0.4
𝑠 = 21
𝐶𝐿 = 95%

𝐸 = 𝑡஑ 
ଶ⎯⎯

𝑠

√𝑛⎯⎯ ⎯⎯⎯

𝐸 = 2.01
21

√49
⎯⎯⎯ ⎯⎯⎯⎯

𝐸 = 6.03

     𝑥̅ − 𝑀𝐸 < µ < 𝑥̅ + 𝑀𝐸
0.4 − 6.03 < µ < 0.4 + 6.03
          −5.6 < µ < 6.4

(−5.6, 6.4)

Stat Tests Zinterval #7 Stats

Stat Tests Tinterval #8 Stats

𝐸 = 𝑧ఈ
ଶ
⎯⎯

ට
𝑝𝑞

𝑛
⎯⎯⎯
⎯⎯⎯

 

𝐸 = 1.96ඨ
(0.4)(0.6)

1000
⎯⎯⎯⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯⎯⎯⎯
 

𝐸 = 0.03036

𝑝 =
400

1000
⎯⎯⎯⎯⎯

𝑝 = 0.4

                 𝑝̅ − 𝐸 < 𝑝 < 𝑝̅ + 𝑝
0.4 − 0.03036 < 𝑝 < 0.4 + 0.0306
           0.36964 < 𝑝 < 0.43036

0.4 ± 0.0306

𝐸 =
0.43036 − 0.36964

2
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝐸 = 0.03036
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